MONORACK SPECIFICO - SPECIFIC MONORACK .
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO

TRIUMPH ST955i ‘00/'01
SPRINT

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

4 @ '

@ /")

@ ( @ )

- @ Q) vara
SUPPORTO DISTANZIALE
POSTERIORE VITE TE M8X20 VITE TE M6X30 VITE TCEI M8X16 | | 14X15 foro @6,5 | | RONDELLA 28
REAR SUPPORT SCREW MEX20 SCREW M6X30 SCREW MBX16 COLLAR DISTANCE | | WASHER @8
SUPPORT POSTERIEUR | | VIS MEX20 VIS M6X30 VIS MBX16 COLLIER DE SEP. RONDELLE 28
\Q.TY n.2 J| Q.TY n.2 J| Q.TY n.2 J{ Q.TY n.2 )| Q.TY n.2 J| Q.TY n.2 )

N\ ( 723FLK723L 3\

MONTAGEKIT DE
ERHAITEN

i PARTICOLARI INCLUSI NEL
KIT VITERIA DELLA PIASTRA

COMPOMNENTS INCLUDED I
THE FITTING KIT OF THE PLATE

PIECES INCLUES DANS LE KIT
DE VI5 DE LA PLATINE

DIE EINZELMEM TEILE SIND BEI
R PLATTE

PIEZAS INCLUIDAS EM EL KIT
DE ANCLAJE DE LA PLETINA

N = ™\

RONDELLA
P6x18 foro 6
WASHER
ROMNDELLE

L Q.TY n.2 |

SUPPORTO POSTERIORE
REAR SUPPORT
SUPPORT POSTERIEUR

>

© Copyright 11032003-Rev02, 1/ J




